//Density function, F-distribution
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//Find the probability for a given x and v1,v2 values that p=P (X<x)
//cumulative probability — quantiles

F(f, vl, \)2):= f(x, vl,

o

//Example

x:= 50 v1=10 v2i=10 p=F(x, vl, v2) p=1
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//How to find the inverse problem. Find the x-value
//for the given degrees of freedom and probability
//p=P (X<x)

//Here are standard values of probabilities used in statistics
p90:=0.9 p95:=0.95 p99:=0.99
v1=10 v2:=10

f(x)=p90-F(x, v1, v2) //put p95, p99 instead of p90
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x1l=1 x2:=1.01x1



while“konvh>aA(iSmeiteﬂ
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x:=eval

X—= X2
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konv:=

X2:= X
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i=38 konv=2.323310 x=2.3226
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critical
e value
x=2.3226

liner:=

f(x vl, vz

liner
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//Check F(x, vl, v2)=0.9
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